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public class Patten { Vector arravi=new Vector(). String compchar.
public Patten() { try { jbInit(). } catch (Exception ex) {
ex.printStackTrace(). } } private Vector split(String src,String
charat,String self){ int len=src.indexOf(charat).
If(len==-1amp.src==null) return arravl . if(len==-1){
arravl.addElement(src). return arravl. }else
arravl.addElement(src.substring(0,len)). return
split(src.substring(len charat.length(),src.length()),charat,self). }
public String[] split(String src,String charat){
arravl.removeAllElements(). Vector retvec=split( src,charat,"1").
if(retvec.size()==0||retvec==null) return null. String [Jarrret=new
String[retvec.size()]. for(int i=0.i
arrret[i]=(String)retvec.elementAt(i). } return arrret. } public void
compile(String com){ this.compchar=com. } public String[]
split(String src){ arravl.removeAllElements(). String comch="".
if(this.compchar==null){ comch=",". }else{ comch=this.compchar.
} Vector retvec=split( src,comch,"1").



If(retvec.size()==0||retvec==null) return null. String [Jarrret=new
String[retvec.size()]. for(int i=0.i
arrret[i]=(String)retvec.elementAt(i). } return arrret. } private void
jblInit() throws Exception{}} 10 OO O OO [ tring mm=

” aaaaaaaa,,,aaa,,,bbbb,,,ddddddd,,,mmm” . Patten p = new
Patten(). p.compile(”,,,"). String [Jarrspt=p. split(mm). 100Test [
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